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EAST OUT(Par6@@3@435@)/TOTAL:3
EAST IN(Par®3@3)5@@) 34 /TOTAL:36.

WEST OUT(Par®@35@R@@4 /TOTAL:36)
WEST IN(Par:-45@R@53@@ /TOTAL:36)

JIE 15z EZ:0] ouT IN Sax HDCP NET

1 O &t 38 41 79 8.4 70.6
2 AK 2B 43 48 91 20.4 70.6
3 LA Eik 48 49 97 26.4 70.6
4 R FE 46 48 94 22.8 71.2
5 NS EA 40 41 81 9.6 71.4
6 Rt RS 40 39 79 7.2 71.8
7 hH & 45 45 90 18 72
8 BiE —Iif 42 41 83 10.8 72.2
9 5 EX 44 44 88 15.6 72.4
10 ¥ BT 44 43 87 14.4 72.6
11 EA RElf 44 42 86 13.2 72.8
12 Rl #Fik 47 44 91 18 73
13 HE E& 41 43 84 10.8 73.2
14 Z fER 42 48 90 16.8 73.2
15 A BT 47 49 96 22.8 73.2
16 £ EMN 48 48 96 22.8 73.2
17 Ra AR 41 42 83 9.6 73.4
18 AT #8558 44 39 83 9.6 73.4
19 mT —% 44 44 88 14.4 73.6
20 i SRk 45 42 87 13.2 73.8
21 &+ EB— 50 49 99 25.2 73.8
22 H B 50 49 99 25.2 73.8
23 2l BE 44 42 86 12 74
24 B R 43 48 91 16.8 74.2
25 ®F RZ 47 50 97 228 74.2
26 ,H k— 43 47 90 15.6 74.4
27 FiR %8 47 49 96 21.6 74.4
28 oH B 52 50 102 27.6 744
29 I K 49 51 100 25.2 74.8
30 B @mF 46 47 93 18 75
31 K BARE 50 49 99 24 75
32 HH XTH 46 53 99 24 75
33 ng B 48 57 105 30 75
34 RH#E RF 49 49 98 22.8 75.2
35 #0O 3 43 42 85 9.6 75.4
36 ;H AKX 46 45 91 15.6 75.4
37 xEH = 44 47 91 15.6 75.4
38 FH BE 47 43 90 14.4 75.6
39 =48 HAtH 51 50 101 25.2 75.8
40 KR KK 46 55 101 25.2 75.8




E22O| REAPFASEE — MR ERF TN (D)
20214108 20H
G5 R—)LERERT LB EER

WEST OUT(Par-®@35@R3@@4 /TOTAL:36) EAST OUT(Par®@@3@435@)/TOTAL:3

WEST IN(Par:46@R@53@@ /TOTAL:36) EAST IN(Par-®3@@5@@@4 /TOTAL:36.
JIE 15z EZ:0] ouT IN Sax HDCP NET
41 AR BEA 45 49 94 18 76
42 AWl HFEE 52 48 100 24 76
43 WH EZ 45 48 93 16.8 76.2
44 2| BH 41 45 86 9.6 76.4
45 T fEE 49 49 98 21.6 76.4
46 R & 49 55 104 27.6 76.4
47 Hik 2 53 57 110 33.6 76.4
48 B 53 49 102 25.2 76.8
49 WH B 45 49 94 16.8 77.2
50 B EE 48 46 94 16.8 77.2
51 HRE £ 49 50 99 21.6 77.4
52 Z) BRiE 57 48 105 27.6 77.4
53 5l = 47 51 98 20.4 77.6
54 B —F 45 45 90 12 78
55 NA & 51 45 96 18 78
56 KB REME 47 48 95 16.8 78.2
57 K & 54 47 101 22.8 78.2
58 e\ ®iE 50 51 101 22.8 78.2
59 R S 54 53 107 28.8 78.2
60 He IR 49 51 100 21.6 78.4
61 £ F{17 49 51 100 21.6 78.4
62 £R EH 46 47 93 14.4 78.6
63 INE B 54 51 105 26.4 78.6
64 K M2 45 47 92 13.2 78.8
65 & BE 52 52 104 25.2 78.8
66 TR RKAE 54 56 110 31.2 78.8
67 BX & 49 48 97 18 79
68 Bk ER#E 46 55 101 21.6 79.4
69 i $hE] 54 47 101 21.6 79.4
70 * He 46 55 101 21.6 79.4
71 IErE E1T 51 49 100 20.4 79.6
72 A+ KB 52 54 106 26.4 79.6
73 % BFE 51 55 106 26.4 79.6
74 TR B 45 48 93 13.2 79.8
75 Z fg— 57 54 111 31.2 79.8
76 A —ER 45 47 92 12 80
77 2 1Ei 58 52 110 30 80
78 E WE 56 54 110 30 80
79 & BER 51 65 116 36 80
80 =H EE 49 48 97 16.8 80.2




E22O|REAPFAEEE — MR ERF TN (B)
20214108 20H
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WEST OUT(Par-®@35@R3@@4 /TOTAL:36) EAST OUT(Par®@@3@435@)/TOTAL:3

WEST IN(Par:46@R@53@@ /TOTAL:36) EAST IN(Par-®3@@5@@@4 /TOTAL:36.
JIE 15z EZ:0] ouT IN Sax HDCP NET
81 ANEA Mz 63 52 115 34.8 80.2
82 " BE 44 46 90 9.6 80.4
83 A & 56 57 113 32.4 80.6
84 Wi —imH 46 48 94 13.2 80.8
85 Il Xk 50 50 100 19.2 80.8
86 M B 55 57 112 31.2 80.8
87 B OEAD 54 50 104 22.8 81.2
88 ME PR 60 56 116 348 81.2
89 Bl E— 43 54 97 15.6 81.4
90 A OERE 53 50 103 21.6 81.4
91 ml ER 55 48 103 21.6 81.4
92 ain mE 51 51 102 20.4 81.6
93 EMR FL 51 56 107 25.2 81.8
94 =B EX 57 49 106 24 82
95 BX & 48 58 106 24 82
96 2 BEA 55 63 118 36 82
97 BEA B 54 62 116 33.6 82.4
98 AR+ &8 57 52 109 26.4 82.6
99 Tk & 55 59 114 31.2 82.8
100 = Fig 57 56 113 30 83
101 ¥R =F 54 65 119 36 83
102 A — 58 51 109 25.2 83.8
103 M RfE 52 56 108 24 84
104 sl #BmE 58 50 108 24 84
105 TH RiE 58 56 114 30 84
106 F BB 63 57 120 36 84
107 g = 60 59 119 34.8 84.2
108 i AN cipv:3 58 63 121 36 85
109 ST BB 58 63 121 36 85
110 £iR FA 59 62 121 36 85
111 =B %= 57 65 122 33.6 88.4
112 B /AL 58 60 118 28.8 89.2
113 Bk KE 54 64 118 28.8 89.2
114 ZF REB 58 68 126 36 90
115 BH BE 67 59 126 36 90
116 M OBEX 58 82 140 36 104
117 B OEWH 69 72 141 36 105
118 & XA 79 72 151 36 115
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a—2R ouT IN TOTAL K 4
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